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▲✐st❛ ✻✿

❊①❡r❝í❝✐♦ ✸✶✳ ❙❡❥❛♠ X, Y ❞✉❛s ✈❛r✐á✈❡✐s ❛❧❡❛tór✐❛s ✐♥❞❡♣❡♥❞❡♥t❡s✳ ❙❡ X, Y

t♦♠❛♠ ✈❛❧♦r❡s ✐♥t❡✐r♦s✱ ♠♦str❡ q✉❡ ❛ ❞✐str✐❜✉✐çã♦ ❞❛ s♦♠❛ X + Y é ❞❛❞❛ ♣❡❧❛
❝♦♥✈♦❧✉çã♦✿

P (X + Y = k) =
∑

n∈Z

P (X = n)P (Y = k − n)

❯s❡ ❡ss❡ ❢❛t♦ ♣❛r❛ ❝❛❧❝✉❧❛r ❛ ❞✐str✐❜✉✐çã♦ ❞❡X+Y ✱ s✉♣♦♥❞♦ q✉❡X ∼ Poisson(λ1)✱
Y ∼ Poisson(λ2) sã♦ ✐♥❞❡♣❡♥❞❡♥t❡s✳

❊♠ s❡❣✉✐❞❛✱ ♣r♦✈❡ ❛ s❡❣✉✐♥t❡ ❣❡♥❡r❛❧✐③❛çã♦✱ ♣❛r❛ ✈❛r✐á✈❡✐s ❝♦♥tí♥✉❛s✿ s❡ X, Y

✭✐♥❞❡♣❡♥❞❡♥t❡s✮ ♣♦ss✉❡♠ ❞❡♥s✐❞❛❞❡s ❝♦♠ r❡s♣❡✐t♦ à ♠❡❞✐❞❛ ❞❡ ▲❡❜❡s❣✉❡ dx✱ ❞❡✲
♥♦t❛❞❛s fX ❡ fY ✱ ❡♥tã♦ X+Y ♣♦ss✉✐ ❞❡♥s✐❞❛❞❡ ❞❛❞❛ ♣❡❧❛ ❝♦♥✈♦❧✉çã♦ ❞❡ fX ❡ fY ✱
❞❡✜♥✐❞❛ ♣♦r

(fX ∗ fY )(z) :=
∫

R

fX(x)fY (z − x) dx . ✭✶✮

❉✐❝❛✿ ❊s❝r❡✈❛ P (X+Y ≤ z) ❝♦♠♦ ✉♠❛ ✐♥t❡❣r❛❧ ❞✉♣❧❛✱ ✉s❡ ♦ ❚❡♦r❡♠❛ ❞❡ ❋✉❜✐♥✐✳

❊①❡r❝í❝✐♦ ✸✷✳ ❖ ♦❜❥❡t✐✈♦ ❞❡ss❡ ❡①❡r❝í❝✐♦ é ❞❡ ❞❛r ✉♠❛ ♣r♦✈❛ ♣r♦❜❛❜✐❧íst✐❝❛ ❞❛
❋ór♠✉❧❛ ❞❡ ❙t✐r❧✐♥❣✿

lim
n→∞

n!√
2πnnne−n

= 1 . ✭✷✮

❙❡❥❛♠ Z1, . . . , Zn ✐✳✐✳❞✳ ❝♦♠ Zk ∼ exp(1)✳ ▼♦str❡ q✉❡ ♣❛r❛ t♦❞♦ 0 < R ≤ √
n✱

1− 1

R2
≤ P

[∣

∣

∣

Z1 + · · ·+ Zn − n√
n

∣

∣

∣
≤ R

]

=
1

(n− 1)!

∫ +
√
nR+n

−
√
nR+n

tn−1e−tdt ≤ 1

✭❉✐❝❛✿ ✿ ✉s❡ ✭✷✮ ♣♦r ✐♥❞✉çã♦✳✮ ❋❛ç❛ ✉♠❛ ♠✉❞❛♥ç❛ ❞❡ ✈❛r✐á✈❡❧ ♣❛r❛ ♦❜t❡r
∫ +

√
nR+n

−
√
nR+n

tn−1e−tdt = nn− 1

2 e−n

∫ R

−R

exp
[

− σ2

2
+ En(σ)

]

dσ ,

♦♥❞❡

En(σ) = (n− 1) log
(

1 +
σ√
n

)

−
√
nσ +

σ2

2
.

▼♦str❡ q✉❡ En(σ) → 0 ✉♥✐❢♦r♠❡♠❡♥t❡ ❡♠ |σ| < R✳ ❈♦♥❝❧✉❡ q✉❡ ∀R > 0✱

1− 1

R2
≤ lim inf

n→∞

nn+ 1

2 e−n

n!

∫ +R

−R

e−
σ
2

2 dσ ≤ lim sup
n→∞

nn+ 1

2 e−n

n!

∫ +R

−R

e−
σ
2

2 dσ ≤ 1 ,

♦ q✉❡ ♣r♦✈❛ ✭✷✮✳

❊①❡r❝í❝✐♦ ✸✸✳ ✏❘✉♠♦ à ▲❡✐ ❞♦ ▲♦❣❛r✐t♠♦ ■t❡r❛❞♦✑✳ ❙❡❥❛ (Sn)n≥0 ♦ ♣❛ss❡✐♦ ❛❧❡❛✲
tór✐♦ s✐♠♣❧❡s s✐♠étr✐❝♦ ❡♠ Z✳



✶✵

✭✶✮ ❋✐①❡ k ≥ 1✱ ❡ ♠♦str❡ q✉❡ E[S2k
n ] = O(nk)✳ ❉❡❞✉③❛✿

Sn

n
1

2
+ǫ

→ 0 q✳❝✳ ✭❍❛✉s❞♦r✛✱ ✶✾✶✸✮

✭✷✮ Pr♦✈❡ ❛ ❞❡s✐❣✉❛❧❞❛❞❡ ❞❡ ❇❡r♥st❡✐♥✱

P (X ≥ a) ≤ inf
t≥0

{

e−atE[etX ]
}

,

❡ ✉s❡✲❛ ♣❛r❛ ♠♦str❛r q✉❡ ♣❛r❛ t♦❞♦ ǫ > 0✱

lim
n→∞

Sn

n
1

2 (log n)1/2+ǫ
= 0 q✳❝✳

❊①❡r❝í❝✐♦ ✸✹✳ ❱❡r✐✜q✉❡ ❛s ❡①♣r❡ssõ❡s ♣❛r❛ ❛s ❢✉♥çõ❡s ❝❛r❛❝t❡ríst✐❝❛s ❞❛s s❡❣✉✐♥✲
t❡s ✈❛r✐á✈❡✐s ❛❧❡❛tór✐❛s✿

• X = C ✭❝♦♥st❛♥t❡✮✱ ϕ(t) = eiCt✳
• X ∼ U([a, b])✱ ϕ(t) = eitb−eita

it(b−a)

• X ∼ exp(λ)✱ ϕ(t) = λ
λ−it

✳

• X ∼ N(m, σ2)✱ ϕ(t) = eitm−t2/2 ✳

❇❡❛✉❝♦✉♣ ❞✬❛♥❛❧②st❡s✱ ❡♥ ❡✛❡t✱ ♠❡tt❡♥t ❛✉ ♣r❡♠✐❡r r❛♥❣ ❧❛ ♥♦✲
t✐♦♥ ❞✉ ❝♦♥t✐♥✉❀ ❝✬❡st ❡❧❧❡ q✉✐ ✐♥t❡r✈✐❡♥t ❞✬✉♥❡ ♠❛♥✐èr❡ ♣❧✉s ♦✉
♠♦✐♥s ❡①♣❧✐❝✐t❡ ❞❛♥s ❧❡✉rs r❛✐s♦♥♥❡♠❡♥ts✳ ❏✬❛✐ ✐♥❞✐q✉é ré❝❡♠♠❡♥t
❬✳✳✳❪ ❡♥ q✉♦✐ ❝❡tt❡ ♥♦t✐♦♥ ❞✉ ❝♦♥t✐♥✉✱ ❝♦♥s✐❞éré ❝♦♠♠❡ ❛②❛♥t ✉♥❡
♣✉✐ss❛♥❝❡ s✉♣ér✐❡✉r❡ à ❝❡❧❧❡ ❞✉ ❞é♥♦♠❜r❛❜❧❡✱ ♠❡ ♣❛r❛ît êtr❡ ✉♥❡
♥♦t✐♦♥ ♣✉r❡♠❡♥t ♥é❣❛t✐✈❡✱ ❧❛ ♣✉✐ss❛♥❝❡ ❞❡s ❡♥s❡♠❜❧❡s ❞é♥♦♠❜r❛✲
❜❧❡s ét❛♥t ❧❛ s❡✉❧❡ q✉✐ ♥♦✉s s♦✐t ❝♦♥♥✉❡ ❞✬✉♥❡ ♠❛♥✐èr❡ ♣♦s✐t✐✈❡✱ ❧❛
s❡✉❧❡ q✉✐ ✐♥t❡r✈✐❡♥♥❡ ❡✛❡❝t✐✈❡♠❡♥t ❞❛♥s ♥♦s r❛✐s♦♥♥❡♠❡♥ts✳ ■❧ ❡st
❝❧❛✐r✱ ❡♥ ❡✛❡t✱ q✉❡ ❧✬❡♥s❡♠❜❧❡ ❞❡s é❧é♠❡♥ts ❛♥❛❧②t✐q✉❡s s✉s❝❡♣t✐❜❧❡s
❞✬êtr❡ ré❡❧❧❡♠❡♥t ❞é✜♥✐s ❡t ❝♦♥s✐❞érés ♥❡ ♣❡✉t êtr❡ q✉✬✉♥ ❡♥s❡♠✲
❜❧❡ ❞é♥♦♠❜r❛❜❧❡❀ ❥❡ ❝r♦✐s q✉❡ ❝❡ ♣♦✐♥t ❞❡ ✈✉❡ s✬✐♠♣♦s❡r❛ ❝❤❛q✉❡
❥♦✉r ❞❛✈❛♥t❛❣❡ ❛✉① ♠❛t❤é♠❛t✐❝✐❡♥s ❡t q✉❡ ❧❡ ❝♦♥t✐♥✉ ♥✬❛✉r❛ été
q✉✬✉♥ ✐♥str✉♠❡♥t tr❛♥s✐t♦✐r❡✱ ❞♦♥t ❧✬✉t✐❧✐té ❛❝t✉❡❧❧❡ ♥✬❡st ♣❛s ♥é❣❧✐✲
❣❡❛❜❧❡ ❬✳✳✳❪✱ ♠❛✐s q✉✐ ❞❡✈r❛ êtr❡ r❡❣❛r❞é s❡✉❧❡♠❡♥t ❝♦♠♠❡ ✉♥ ♠♦②❡♥
❞✬ét✉❞✐❡r ❧❡s ❡♥s❡♠❜❧❡s ❞é♥♦♠❜r❛❜❧❡s✱ ❧❡sq✉❡❧s ❝♦♥st✐t✉❡♥t ❧❛ s❡✉❧❡
ré❛❧✐té q✉❡ ♥♦✉s ♣✉✐ss✐♦♥s ❛tt❡✐♥❞r❡✳

➱✳ ❇♦r❡❧✱ ✶✾✵✾ ❬❄❪✳


